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Your Expert Partner for Human Machine Interfaces

TS

51-
495.025D2

https://www.eao.com/p/51-495.025D2


https://www.eao.com/zh/general/cl8yfb5fi3paa0but4q1qg36c/human-machine-interfaces-since-1947
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51-495.025D2

ST

24 mm x 18 mm
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250 VAC, 5 A (fAH)

250 VAC, 3 A (184#i%F)

250 VAC, 2 A (&, cos(phi) = 0.7)
125 VAC, 3 A (&, cos(phi) = 0.7)
220 VDG, 0.1 A (J&M, L:R = 30 ms)
110 VDC, 0.2 A (J&H,L:R = 30 ms)
60 VDG, 0.7 A (B, L:'R = 30 ms)

24 VDG, 2 A

1NC/1NO

(BHE, L:R = 30 ms)

250 VAC/DC #R#F EN IEC 60947-1

250V @5 A

50 000 cycles of operation

2500 VAC, 50 Hz, fiBisF5ihz 81 min, 83 IEC 61058-1, T4 15

#R#E EN / IEC 61058-1

A, 1R3E EN / IEC 60947-5-1

ELEITMMEIRE TR ARR , FRE s ARRAE


https://www.eao.com/component/51-495.025D2/zh/actuator
https://www.eao.com/component/51-495.025D2/zh/actuator
https://www.eao.com/component/51-495.025D2/zh/actuator
https://www.eao.com/component/51-495.025D2/zh/actuator
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50 000 &

1,8 ... 6 N, BURTIFRTHMEE

EE &K 0.5 Nm

HENFFRITHP B EE T
BRAREMER2 x 1.2 mm
BARML WS ELRT x 1 mm?

0.016 kg

IP65 , & DIN EN 6052955t

-25°C ... + 55 °C

-40°C ... +85°C

10 ... 500 Hz, #x1& 1.5 mm p-p ##E IEC 60068-2-6

10g , 10 Hz ... 1500 Hz, #xiE 0.75 mm (IE3ZBHZL), #RIE DIN EN 60512-4-4, DIN
EN 60068-2-6

FRAES 4R DIN EN 60068-2-30
A4k, 451 4848 DIN EN 60068-2-14

CB (IEC 61058-1), CQC, CSA, DNV, ENEC (EN 61058-1), UL
CE, UKCA, 2011 /65 / EC (RoHS), 2014 / 30 / EU (EMC), 2014 / 35 / EU (LVD)
REACH compliant

RoHS compliant

1RAEZ, 24 mm x 18 mm, 487, 1 NC /1 NO, 8% (a) - BEfL, BT, IP65
& DIN EN 60529451
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A = 1B¥in T
B= jﬁ)\iﬁiﬁ%? 2.8 mm x 0.5 mm
C = BR¥HF 2.0 mm x 0.5 mm




